
MATHS

BOOKS - OBJECTIVE RD SHARMA MATHS VOL I

(HINGLISH)

ALGEBRAIC INEQUATIONS

Illustration

1. 

A. 

B. 

( + 4) ≥ (x − 6)
1

2

3x

5

1

3

[120, ∞]

( − ∞, 120]

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_Zl1Vxp1U74tO


C. 

D. 

Answer: B

Watch Video Solution

[0, 120]

[ − 120, 0]

2. 

, then x belongs to the internal

A. 

B. 

C. 

if + >  and − <
5x

4

3x

8

39

8

2x − 1

12

x − 1

3

3x + 1

4

(3, ∞)

(0, ∞)

( − ∞, 3)

https://dl.doubtnut.com/l/_Zl1Vxp1U74tO
https://dl.doubtnut.com/l/_SFOVtk2ijQQD


D. 

Answer: A

Watch Video Solution

( − ∞, 0)

3. 

A. 

B. 

C. 

D. 

Answer: B

h id l i

−5 ≤ ≤ 9
2 − 3x

4

( − ∞, 22/3)

[ − 34/3, 22/3]

[22/3, ∞)

( − ∞, − 34/3]

https://dl.doubtnut.com/l/_SFOVtk2ijQQD
https://dl.doubtnut.com/l/_gUms9hG44iup


Watch Video Solution

4. The set of all values of x satisfying the inequations

 is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

|x − 1| ≤ 5  and |x| ≥ 2,

[ − 4, 6]

[ − 4, − 2]

[ − 4, − 2] ∪ [2, 6]

[2, 6]

https://dl.doubtnut.com/l/_gUms9hG44iup
https://dl.doubtnut.com/l/_Xih0FHn41lcm


5. Solve 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

1 ≤ |x − 2| ≤ 3

[ − 1, 5]

[3, 5]

[ − 1, 1]

[ − 1, 1] ∪ [3, 5]

6. The solution set of the inequation 

, is≥ 1
3

|x| + 2

https://dl.doubtnut.com/l/_IJzLAa1tRNrc
https://dl.doubtnut.com/l/_qWFubkODOv9k


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

[ − 1, 1]

( − 1, 1)

( − ∞, 1]

[1, ∞)

7. if , then x belongs to the internal

A. 

B. 

C. 

∣
∣
∣

∣
∣
∣

> 1
2

x − 4

(2, 6)

(2, 4) ∪ (4, 6)

( − ∞, 2)

https://dl.doubtnut.com/l/_qWFubkODOv9k
https://dl.doubtnut.com/l/_iBMESN9NRzvd


D. 

Answer: B

Watch Video Solution

(6, ∞)

8. यदि , तब 

A. (1, 2)

B. (0, 1)

C. 

D. 

Answer: C

h id l i

≥ 2
x − 1

2
x ∈

[5, ∞)

(1, ∞)

https://dl.doubtnut.com/l/_iBMESN9NRzvd
https://dl.doubtnut.com/l/_LYMOAqJfubRu


Watch Video Solution

9. यदि  तब 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

(x − 1)3(x + 1) < 0 x ∈

( − 1, 1)

( − ∞, − 1)

[ − 1, 1]

( − 1, ∞)

10.  then  lies in the interval≤ 0
|x| − 1

|x| − 2
x

https://dl.doubtnut.com/l/_LYMOAqJfubRu
https://dl.doubtnut.com/l/_4LKR8H4inni5
https://dl.doubtnut.com/l/_vZ0J3loHPLWv


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

[ − 1, 2]

( − 2, 2)

( − 2, − 1] ∪ [1, 2)

[ − 1, 1]

11. Solution set of  is

A. (1, 4)

B. [2, 4]

C. (2, 4)

(5x − 1) < (x + 1)2 < (7x − 3)

https://dl.doubtnut.com/l/_vZ0J3loHPLWv
https://dl.doubtnut.com/l/_HBgrpkKx6bwd


Section I Solved Mcqs

D. 

Answer: C

Watch Video Solution

( − ∞, 1) ∪ (2, ∞)

1. असमिका का हल  है .

A. (2, 3)

B. [2, 3]

C. 

D. इनमें से कोई नहीं

> 2,
x − 1

x − 2

( − ∞, 2) ∪ (3, ∞)

https://dl.doubtnut.com/l/_HBgrpkKx6bwd
https://dl.doubtnut.com/l/_VNq0RJfaLjM0


Answer: A

Watch Video Solution

2. यदि  तथा  तब :

A. 

B. (2, 3)

C. 

D. 

Answer: D

Watch Video Solution

5x + 2 < 3x + 8 < 4
x + 2

x − 1
x ∈

( − ∞, 1)

( − ∞, 3)

( − ∞, 1) ∪ (2, 3)

https://dl.doubtnut.com/l/_VNq0RJfaLjM0
https://dl.doubtnut.com/l/_QX3ZyrL43xwj


3. The solution set of the inequation ,

is

A. 

B. 

C. 

D. none of these

Answer: B

Watch Video Solution

|2x − 3| < x − 1

(4/3, 3/2) ∪ (3/2, 2)

(4/3, 2)

[3/2, 2)

4. Write the solution set of the inequation

|x − 1| ≥ |x − 3|.

https://dl.doubtnut.com/l/_0XhExzDLNXP8
https://dl.doubtnut.com/l/_K9z8zwT33u5I


A. 

B. 

C. 

D. none of these

Answer: B

Watch Video Solution

( − ∞, 2]

[2, ∞)

[1, 3)

5. The solution set of the inequation

 is

A. 

B. 

||x| − 1| < |1– x|, x ∈ R,

( − 1, 1)

(0, ∞)

https://dl.doubtnut.com/l/_K9z8zwT33u5I
https://dl.doubtnut.com/l/_lLEVbGaQmAP6


C. 

D. none of these

Answer: D

Watch Video Solution

( − 1, ∞)

6. The set of all real numbers x for which

 is

A. 

B. 

C. 

D. 

x2 − |x + 2| + x > 0

( − ∞, − 2) ∪ (2, ∞)

( − ∞, − √2) ∪ (√2, ∞)

( − ∞, − 1) ∪ (1, ∞)

(√2, ∞)

https://dl.doubtnut.com/l/_lLEVbGaQmAP6
https://dl.doubtnut.com/l/_8hRvn5XgA2QS


Answer: B

Watch Video Solution

7. The solution set of the inequation ,

is

A. 

B. 

C. 

D. none of these

Answer: A

Watch Video Solution

> 1
|x + 3| + x

x + 2

( − 5, − 2) ∪ ( − 1, ∞)

( − 5, − 2)

( − 1, ∞)

https://dl.doubtnut.com/l/_8hRvn5XgA2QS
https://dl.doubtnut.com/l/_WRvlD19HIYdJ


8. The set of values of x for which the inequality

 always holds true, is

A. 

B. 

C. 

D. none of these

Answer: A

Watch Video Solution

|x − 1| + |x + 1| < 4

( − 2, 2)

( − ∞, − 2) ∪ (2, ∞)

( − ∞, − 1] ∪ [1, ∞)

https://dl.doubtnut.com/l/_WRvlD19HIYdJ
https://dl.doubtnut.com/l/_scMTrH2q5BYF


9. The solution set of the inequation

 is ... ([*] denotes the greatest

integer function )

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

|[|x| − 7]| − 5 < 0,

[3, 12)

( − 12, − 3]

( − 12, 12)

( − 12, − 3] ∪ [3, 12)

https://dl.doubtnut.com/l/_h8uDSc3nqbdt


10. If [x] denotes the greatest integer less than or equal

to x, then the solution set of inequation 

is ...

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

> 0,
[x] − 2

4 − [x]

(2, 3]

[3, 4)

[2, 3]

[3, 4]

https://dl.doubtnut.com/l/_4mtnOfcrOIzN


11. The area of the region represented by

, is

A. 36 sq. units

B. 18 sq. units

C. 72 sq. units

D. 6 sq. units

Answer: B

Watch Video Solution

|x − y| ≤ 3  and |x + y| ≤ 3

12. The total number of integral points i.e. points having

integral coordinates lying in the region represented by

https://dl.doubtnut.com/l/_feG8apTFeaIE
https://dl.doubtnut.com/l/_HQD9AveZZ8MA


the inequations  is

A. 25

B. 36

C. 13

D. 12

Answer: C

Watch Video Solution

|x − y| < 3  and |x + y| < 3

13. The solution set of the inequation , is

A. 

B. 

∣
∣
∣

− 2
∣
∣
∣

< 4
1

x

( − ∞, − 1/2)

(1/6, ∞)

https://dl.doubtnut.com/l/_HQD9AveZZ8MA
https://dl.doubtnut.com/l/_Qfyc03FiAVuF


C. 

D. 

Answer: D

Watch Video Solution

( − 1/2, 1/6)

( − ∞, − 1/2) ∪ (1/6, ∞)

14. The set of real values of x satisfying the inequality

, is

A. 

B. 

C. 

D. 

∣∣x
2 + x − 6∣∣ < 6

( − 4, 3)

( − 3, 2)

( − 4, − 3) ∪ (2, 3)

( − 4, − 1) ∪ (0, 3)

https://dl.doubtnut.com/l/_Qfyc03FiAVuF
https://dl.doubtnut.com/l/_fEUUSCnh7c81


Answer: D

Watch Video Solution

15. The set of real values of x satisfying

, is

A. 

B. 

C. 

D. none of these

Answer: A

Watch Video Solution

||x − 1| − 1| ≤ 1

[ − 1, 3]

[0, 2]

[ − 1, 1]

https://dl.doubtnut.com/l/_fEUUSCnh7c81
https://dl.doubtnut.com/l/_1Pvx0JoSX07f


16. The largest interval for which


`-4

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

x12 + x9 + x4 − x + 1 > 0

( − 4, 0]

( − 100, 100)

(0, 1)

( − ∞, ∞)

https://dl.doubtnut.com/l/_1Pvx0JoSX07f
https://dl.doubtnut.com/l/_GK8dnzkCuv00


17. असमिका  के  पूर्णांक हलो

की संख्या है:

A. 2

B. 3

C. 4

D. 5

Answer: D

Watch Video Solution

x2 + 9 < (x + 3)2 < 8x + 25

18. If  for all  then ....x2 − ax + 1 − 2a2 > 0 x ∈ R,

https://dl.doubtnut.com/l/_25IX9eroQJMS
https://dl.doubtnut.com/l/_tPxQS0s14nPW


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

a ∈ ( − 2/3, 2/3)

a ∈ [ − 2/3, 2/3]

a ∈ ( − 2/3, 1)

a ∈ (0, 2/3)

19. The least integral value of 'k' for which

 for all , is:

A. 5

B. 4

(k − 2)x2 + 8x + k + 4 > 0 xεR

https://dl.doubtnut.com/l/_tPxQS0s14nPW
https://dl.doubtnut.com/l/_WKMEh9nLvWH7


C. 3

D. none of these

Answer: B

Watch Video Solution

20. If 

then

A. 

B. 

C. 

D. 

9x+ 1 + (a2 − 4a − 2)3x + 1 < 0for allx ∈ R,

a ∈ R

a ∈ R+

a ∈ [1, ∞)

a ∈ R − (2)

https://dl.doubtnut.com/l/_WKMEh9nLvWH7
https://dl.doubtnut.com/l/_O40WwL4QgTbk


Exercise

Answer: D

Watch Video Solution

1. The solution set of the inequation , is

A. 

B. 

C. 

D. none of these

Answer: C

≤ 2
x + 4
x − 3

( − ∞, 3) ∪ (10, ∞)

(3, 10]

( − ∞, 3) ∪ [10, ∞)

https://dl.doubtnut.com/l/_O40WwL4QgTbk
https://dl.doubtnut.com/l/_DBEIkJbtolLG


Watch Video Solution

2. If , then  belongs to the

interval

A. 

B. 

C. 

D. none of these

Answer: B

Watch Video Solution

≥
3(x − 2)

5

5(2 − x)

3
x

(2, ∞)

[2, ∞)

( − ∞, 2]

https://dl.doubtnut.com/l/_DBEIkJbtolLG
https://dl.doubtnut.com/l/_E2nycTfLRwV5
https://dl.doubtnut.com/l/_icBdqx5TIPso


3. solve the inequation  and represent this

solution on the number line.

A. 

B. 

C. 

D. none of these

Answer: B

Watch Video Solution

≥ 5
2x + 4
x − 1

(1, 3)

(1, 3]

( − ∞, 1) ∪ [3, ∞)

4. The solution set of the inequation , is

A. 

< 6
4x + 3

2x − 5

(5/2, 33/8)

https://dl.doubtnut.com/l/_icBdqx5TIPso
https://dl.doubtnut.com/l/_sktEVqBWRMQC


B. 

C. 

D. 

Answer: B

Watch Video Solution

( − ∞, 5/2) ∪ (33/8, ∞)

(5/2, ∞)

(33/8, ∞)

5. The number of integral solutions of

, is

A. 2

B. 3

C. 4

2(x + 2) > x2 + 1

https://dl.doubtnut.com/l/_sktEVqBWRMQC
https://dl.doubtnut.com/l/_1dAciScuWIxj


D. 5

Answer: B

Watch Video Solution

6. If , then x belongs to the interval

A. 

B. 

C. 

D. 

Answer: A

h id l i

|3x + 2| < 1

( − 1, − 1/3)

[ − 1, − 1/3]

( − ∞, − 1)

( − 1/3, ∞)

https://dl.doubtnut.com/l/_1dAciScuWIxj
https://dl.doubtnut.com/l/_Y9dCNlkMHxqU


Watch Video Solution

7. The solution set of the inequation

 is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

|2x − 3| < |x + 2|,

( − ∞, 1/3)

(1/3, 5)

(5, ∞)

( − ∞, 1/3) ∪ (5, ∞)

https://dl.doubtnut.com/l/_Y9dCNlkMHxqU
https://dl.doubtnut.com/l/_PpP7g01qDqK7


8. The solution set of the inequation  is

A. 

B. 

C. 

D. none of these

Answer: C

Watch Video Solution

∣
∣
∣

+ 1
∣
∣
∣

> 2,
3

x

(0, 3]

[ − 1, 0]

( − 1, 0) ∪ (0, 3)

9. The solution set of the inequation 

, is

0 < |3x + 1| <
1

3

https://dl.doubtnut.com/l/_K31Vi5BdMt8U
https://dl.doubtnut.com/l/_Qs6N1rauYtiY


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

( − 4/9, − 2/9)

[ − 4/9, − 2/9]

( − 4/9, − 2/9) − [ − 1/3]

[ − 4/9 − 2/9] − [ − 1/3]

10. असमिका , का हल समुच्चय है 

A. 

B. 

> 1, x ∈ R
x2 − 3x + 4

x + 1

x ∈

(3, ∞)

( − 1, 1) ∪ (3, ∞)

https://dl.doubtnut.com/l/_Qs6N1rauYtiY
https://dl.doubtnut.com/l/_aJDahCsvgH8l


C. 

D. none of these

Answer: B

Watch Video Solution

[ − 1, 1] ∪ [3, ∞)

11. The solution set of the inequation...

 is ...

A. 

B. 

C. 

D. none of these

> 1, x ≠ 4
2

|x − 4|

(2, 6)

(2, 4) ∪ (3, ∞)

[ − 1, 1] ∪ [3, ∞)

https://dl.doubtnut.com/l/_aJDahCsvgH8l
https://dl.doubtnut.com/l/_c1lBV48RBvDl


Answer: B

Watch Video Solution

12. The solution set of the inequation  is

A. 

B. 

C. 

D. none of these

Answer: C

Watch Video Solution

<
1

|x| − 3

1

2

( − ∞, − 5) ∪ (5, ∞)

( − 3, 3)

( − ∞, − 5) ∪ ( − 3, 3) ∪ (5, ∞)

https://dl.doubtnut.com/l/_c1lBV48RBvDl
https://dl.doubtnut.com/l/_H0AVv0ac07xa


13. The solution set of the inequation , is

A. 

B. 

C. 

D. none of these

Answer: A

Watch Video Solution

∣
∣
∣

∣
∣
∣

> 2
2x − 1

x − 1

(34, 1) ∪ (1, ∞)

(3/4, ∞)

( − ∞, 3/4)

14. The solution set of the inequation , is

A. 

< 0
|x − 2|

x − 2

(2, ∞)

https://dl.doubtnut.com/l/_e1VC1vwAq9yA
https://dl.doubtnut.com/l/_x1uUGXwf2EGZ


B. 

C. 

D. 

Answer: B

Watch Video Solution

( − ∞, 2)

R

( − 2, 2)

15. Write the solution set of inequation 

A. 

B. 

C. 

D. 

∣
∣
∣
x +

∣
∣
∣

> 2.
1

x

R − {0}

R − { − 1, 0, 1}

R − {1}

R − { − 1, 1}

https://dl.doubtnut.com/l/_x1uUGXwf2EGZ
https://dl.doubtnut.com/l/_w6ygCJJT0zYr


Answer: B

Watch Video Solution

16. The solution set of the inequation

 is

A. 

B. 

C. 

D. none of these

Answer: C

Watch Video Solution

|x − 1| + |x − 2| + |x − 3| ≥ 6

[0, 4]

( − ∞, − 2) ∪ [4, ∞)

( − ∞, 0] ∪ [4, ∞)

https://dl.doubtnut.com/l/_w6ygCJJT0zYr
https://dl.doubtnut.com/l/_2yEeGsNZMkIe


17. The solution set of , is

A. 

B. 

C. 

D. none of these

Answer: A

Watch Video Solution

x2 + 2 ≤ 3x ≤ 2x2 − 5

ϕ

[1, 2]

( − ∞, − 1] ∪ [5/2, ∞)

18. Writhe the set of values of 
 satisfyingx

|x − 1| ≤ 3 and |x − 1| ≤ 1.

https://dl.doubtnut.com/l/_2yEeGsNZMkIe
https://dl.doubtnut.com/l/_lxVug3z6iNBw
https://dl.doubtnut.com/l/_VJg1oRSYRsEo


A. 

B. 

C. 

D. none of these

Answer: C

Watch Video Solution

[2, 4]

( − ∞, 2] ∪ [4, ∞)

[ − 2, 0] ∪ [2, 4]

19. The solution set of the inequation 

 is

A. 

B. 

x2 + (a + b)x + ab < 0,  wherea < b,

(a, b)

( − ∞, a) ∪ (b, ∞)

https://dl.doubtnut.com/l/_VJg1oRSYRsEo
https://dl.doubtnut.com/l/_u0SPR3v1vEPK


C. 

D. 

Answer: C

Watch Video Solution

( − b, − a)

( − ∞, − b) ∪ ( − a, ∞)

20. The number of integral solutions of

, is

A. 3

B. 4

C. 6

D. none of these

x2 − 3x − 4 < 0

https://dl.doubtnut.com/l/_u0SPR3v1vEPK
https://dl.doubtnut.com/l/_JhzkxvQ1GSLb


Answer: B

Watch Video Solution

21. The solutiong set of , is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

∣∣x
2 − 10∣∣ ≤ 6

(2, 4)

( − 4, − 2)

( − 4, − 2) ∪ (2, 4)

[ − 4, − 2] ∪ [2, 4]

https://dl.doubtnut.com/l/_JhzkxvQ1GSLb
https://dl.doubtnut.com/l/_51ahSOBR7JQk


22. The solution set of the inequation , is

A. 

B. 

C. 

D. none of these

Answer: A

Watch Video Solution

∣
∣
∣
x +

∣
∣
∣

< 4
1

x

(2 − √3, 2 + √3) ∪ ( − 2 − √3, − 2 + √3)

R − (2 − √3, 2 + √3)

R − ( − 2 − √3, − 2 + √3)

23. The solution set of , is

A. 

x2 + x + |x| + 1 < 0

(0, ∞)

https://dl.doubtnut.com/l/_ImURzaOzZA8R
https://dl.doubtnut.com/l/_sqVP6h2FLIQH


B. 

C. R

D. 

Answer: D

Watch Video Solution

( − ∞, 0)

ϕ

24. If  , then x belongs to

A. 

B. 

C. R

D. 

|x − 1| + |x| + |x + 1| ≥ 6

( − ∞, 2)

( − ∞, − 2] ∪ [2, ∞)

ϕ

https://dl.doubtnut.com/l/_sqVP6h2FLIQH
https://dl.doubtnut.com/l/_5oYxKuQPQczr


Answer: B

Watch Video Solution

25. If , then x belongs to

A. 

B. 

C. 

D. R

Answer: C

Watch Video Solution

∣
∣
∣

∣
∣
∣

≥ 1
x2 + 6

5x

( − ∞, − 3)

( − ∞, − 3) ∪ (3, ∞)

( − ∞, − 3] ∪ [ − 2, 0) ∪ (0, 2] ∪ [3, ∞)

https://dl.doubtnut.com/l/_5oYxKuQPQczr
https://dl.doubtnut.com/l/_DTaidnXVt3Kg


26. the greatest negative integer satisfying

 and  is

A. 

B. 

C. 

D. none of these

Answer: D

Watch Video Solution

x2 + 4x − 77 < 0 x2 > 4

−4

−6

−7

27. If , then2 − 3x − 2x2 ≥ 0

https://dl.doubtnut.com/l/_icptt4e9cBfi
https://dl.doubtnut.com/l/_Tz2MMSB6oTM6


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

x ≤ − 2

−2 ≤ x ≤
1

2

x ≥ − 2

x ≤
1

2

28. The solution of , is

A. 

B. 

C. 

6 + x − x2 > 0

−1 < x < 2

−2 < x < 3

−2 < x < − 1

https://dl.doubtnut.com/l/_Tz2MMSB6oTM6
https://dl.doubtnut.com/l/_zomtvKOjQ3LZ


D. none of these

Answer: B

Watch Video Solution

29. If , then

A. 

B. 

C. 

D. 

Answer: A

h id l i

4 ≤ x ≤ 9

(x − 4)(x − 9) ≤ 0

(x − 4)(x − 9) ≥ 0

(x − 4)(x − 9) < 0

(x − 4)(x − 9) > 0

https://dl.doubtnut.com/l/_zomtvKOjQ3LZ
https://dl.doubtnut.com/l/_HEszyT8uXQpP


Watch Video Solution

30. The set of real values of  for which

 is

A. 

B. 

C. 

D. none of these

Answer: B

Watch Video Solution

x

< 8,
10x2 + 17x − 34

x2 + 2x − 3

( − 5/2, 2)

(0, ∞)

( − 1, ∞)

https://dl.doubtnut.com/l/_HEszyT8uXQpP
https://dl.doubtnut.com/l/_STUuqlNEUQEI


31. The solution set of the inequation

 is
 (i) 
 (ii) 
 (iii)


(iv) none of these

A. 

B. 

C. 

D. none of these

Answer: D

Watch Video Solution

||x| − 1| < |1– x|, x ∈ R, ( − 1, 1) (0, ∞)

( − 1, ∞)

( − 1, 1)

(0, ∞)

( − 1, ∞)

https://dl.doubtnut.com/l/_zzWCkn5mEYAV


32. Find the set of all 
 foir which

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

x

> .
2x

(2x2 + 5x + 2)

1

(x + 1)

( − 2, − 1)

( − 2/3, 0)

( − 2/3, − 1/2)

( − 2, − 1) ∪ ( − 2/3, − 1/2)

33. Solve > 3
8x2 + 16x − 51

2x2 + 5x − 12

https://dl.doubtnut.com/l/_q7qYvZUAQo2Z
https://dl.doubtnut.com/l/_KBUDfOCi8hXL


A. 

B. 

C. 

D. none of these

Answer: C

Watch Video Solution

(3/2, 5/2)

( − 4, − 3)

( − 4, − 3) ∪ (3/2, 5/2)

34. Solution set of  is

A. 

B. 

C. 

(5x − 1) < (x + 1)2 < (7x − 3)

ϕ

{1}

{2}

https://dl.doubtnut.com/l/_KBUDfOCi8hXL
https://dl.doubtnut.com/l/_WFpuZISo5DnI


D. 

Answer: D

Watch Video Solution

{3}

35. The number of integral solutions of  is

A. 1

B. 2

C. 5

D. 4

Answer: C

h id l i

>
x + 1

x2 + 2

1

4

https://dl.doubtnut.com/l/_WFpuZISo5DnI
https://dl.doubtnut.com/l/_n5VlsaklZfif


Watch Video Solution

36. The solution set of , is

A. 

B. 

C. 

D. none of these

Answer: A

Watch Video Solution

x2 + 2 ≤ 3x ≤ 2x2 − 5

ϕ

[1, 2]

( − ∞, − 1] ∪ [5/2, ∞)

https://dl.doubtnut.com/l/_n5VlsaklZfif
https://dl.doubtnut.com/l/_C04IbzYdGqND


37. If x is an integer satisfying

, then the number

of possible values of x, is

A. 3

B. 4

C. 2

D. infinite

Answer: A

Watch Video Solution

x2 − 6x + 5 ≤ 0  and x2 − 2x > 0

https://dl.doubtnut.com/l/_39x3ABndjH9n


38. If  are numbers such that  

   thn the

largest and smallest numbers are

A. p and q respectively

B. r and t respectively

C. r and q respectively

D. q and p respectively

Answer: A

Watch Video Solution

p, q, r, s, t p + q < r + s

q + r < s + t r + s < t + p s + t < p + q

https://dl.doubtnut.com/l/_UR7M4oclW6Qh


39. The number of integral solutions of 
 is

4 2.
5 3. 3 4. 2 5. 6

A. 4

B. 5

C. 3

D. 2

Answer: C

Watch Video Solution

>
x + 2

x2 + 1

1

2

https://dl.doubtnut.com/l/_oun5DYfkqXwQ

